
Converting Inches to Centimeters (B)1 in = 2.54 cm; ½ in = 1.27 cm
4  in = cm 2  in = cm

8 ½ in = cm 8  in = cm
1  in = cm 6 ½ in = cm
7  in = cm 2 ½ in = cm

6 ½ in = cm 9 ½ in = cm
9  in = cm 8 ½ in = cm

1 ½ in = cm 8 ½ in = cm
4 ½ in = cm 8  in = cm

7  in = cm 1 ½ in = cm
3  in = cm 3 ½ in = cm
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Converting Inches to Centimeters (B) Answers1 in = 2.54 cm; ½ in = 1.27 cm
4  in = 10.16 cm 2  in = 5.08 cm

8 ½ in = 21.59 cm 8  in = 20.32 cm
1  in = 2.54 cm 6 ½ in = 16.51 cm
7  in = 17.78 cm 2 ½ in = 6.35 cm

6 ½ in = 16.51 cm 9 ½ in = 24.13 cm
9  in = 22.86 cm 8 ½ in = 21.59 cm

1 ½ in = 3.81 cm 8 ½ in = 21.59 cm
4 ½ in = 11.43 cm 8  in = 20.32 cm

7  in = 17.78 cm 1 ½ in = 3.81 cm
3  in = 7.62 cm 3 ½ in = 8.89 cm

Math-Drills.Com


